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15 The company has
announced (A) / a bonus for
all (B) / employee (C) / who
achieve their sales targg

Correct Option: C
In part C, the word 'employee' must
e replaced 'the employees’



2. Everyone admires Deepa
(A) / because of her ability
(B) / to generate (C) / so
good ideas. (D) '/

Correct Option: D

In part D, the phrase 'so good
ideas’ must be replaced with
'such good ideas'’




3. During the flood (A) / Shilpa's
colleagues (B) / prayed on (C) /
her safety. (D)

Correct Option: C replace
on with for




4. The management is (A) / not
wiling to (B) / make no
concession (C) / to
employees' demands. (D)

orrect Option: C
Two negatives - 'not willing & no concession' cannot
go together in a single sentence. The correct
formation will be - "'The management is not willing to
make any concession to the employees' demands.’



5. He has been assigned (A)/
with that team (B)/ because
he is (C) / well qualified and
experienced. (D)

Correct Option: B

The verb 'Assign’ is followed
by the preposition 'to' so In
part B, the preposition ‘with'
must be replaced with 'to'.




6. The manager has (A) / confidence
in the engineer (B) / ability to (C)
/design the new software. (D)

In the part B, the word 'engineer’' has
to be in possessive case as in the
sentence it is giving the context of
‘ability of the engineer'. So, the
correct formation will be - 'The
manager has confidence in the
engineer's ability to design the new
software.’




7. Grandfather led (1)/ a peaceful life
after his (2)/ retirement from the
army. (3)/ No Error (4)

(d); "no error”




8. Indian Defense forces(A)/ fought
the enemy (B)/ till the last soldier
was standing. (C)/ No error(D)

\

(a); We use "The to the specific
things and as Indian Defense
forces are specific, thus "the"
should be added before it.



9. The landlord could not (A)/ tell
which of the servant (B)/ broke the
glass. (C)/ No error(D)

(b); As the selection has been
made that can be inferred
with the pronoun "which",
thus "selection” can be out of
many , thus "servant” should
be "servants".




10. The cashier cannot (A) / give no
explanation (B) / for the money (C)
{ \ / that is missing. (D)

(B); "'The cashier cannot give
any explanation



MISSION SELECTION SSC 2 (2)

Q.11. The world is at a crucially
phase In its fight against the virus.
A. The world is at

B. a crucially phase

C. No error

D. its fight against the virus

Answer: (B) Replace crucially
with crucial




MISSION SELECTION SSC 2 (2)

Q.12. Something has been
interpreted wrongly, have they?
A. wrongly, have they?
B. something has

C. been interpreted

D. No Error

Answer: (a) Replace “have they?” with
“*hasn’t it?”




Q.13. Neither our families nor
our friends knows that we are

getting married.
A. Our families
B. We are

C. No error

D. Knows

Answer: (d) Replace Knows with
know




‘

Q.14. She was looking too
beautiful that not a single person
was there at the party who did not
want to have her company.
A. looking too beautiful

B. was there at the party
C. to have her company

D. No error Answer: (A) Replace too
with so




MISSION SELECTION SSC 2 (2)

Q.15. No sooner had they
completed the work when they
demanded wages.

A. No error

B. when they demanded
C. no sooner had they
D. wages

Answer: (B) Replace when
with than




Q.16. You can check-in online,
but you have to do it at least four
hours from your flight.
A. hours from your flight
B. you have to do it at
C. can check-in online
D. No Error

Answer: (A) Replace “from” with
“before”




Q.17. Mrs. Sharma has not been
able to (a)/ meet her parents (b)/

since one year. (c)/ No error (d)
A. Mrs. Sharma has not been able to

B. meet her parents
C. since one year. IMI
D. No error

Answer: (c) Replace Since
with for




Q.18 The reason why (a)/ he was
rejected (b)/ was because he was
too young. (c)/ No error (d)
A. The reason why

B. he was rejected W
C. was because he was too i ™' =

D. No error
Answer: (¢) Replace because with that
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Q.19 Someone must being
killed.

a) have been

b) has been

c) been

d) No improvement

Answer:. a) have been




ISSION SELECTION SSC 2 (&)

Q.20 Some people by
naturally talk more than
others.

a) Natural by talking
b) nature by talking
c) naturally talk

d) by natural talk

Answer: c) naturally talk




MISSION SELECTION SSC 2 ()

Q.21 The boys are listening to
my lecture since 8 o’clock this
morning.

a) had been listening
b) were listening

c) have been listening

d) No improvement

Answer:. c) have been
listening
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Q.22 | will be happy if you will buy
me apples.

a) will be buying

b) bought

c) buy

d) No improvement

Answer: c) buy
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Q.23 If he dyed his hair
green, everybody will laugh at
him.

a) would

b) did

C) may

d) No improvement

Answer: a) would



achievements, his high claims
amused us.
a) huge

b) big

c) tall

d) No improvement

Answer: c) When someone boast
of something, the correct
phrase for this is ‘tall claims’.




Q.25 Not only they went to
see a film, but also had dinner

out.

a) Not only did they go

b) They didn’t go not only
c) They hot only went

d) No Improvement

Answer: a) Not only did they
go
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